SECONDARY SCHOOL EXAMINATION-2025
A A Fhol URIET—2025
( ANNUAL / 1§ )

SCIENCE (Compulsory)
faemr (stfam)

| fava ®rs : 112
el JAT [ 80+24+6 =110 Subject code: 112
Total Questions : 80+24+6 = 110
(wHg 1 2 °< 45 fiFe ) (T 80 )
[ Time : 2 Hours 45 Minutes | [ Full Marks:80 |

qenfat & forg facer:

Instructions for the candidates:

1. g9&rff OMR Sv—y3a Yv 3797 H37 JieadT &HHid (10 Siwl &]) S99 [fordd |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.
2. goereff FereTya o7y Frsel H & gv &/

Candidates are required to give their answers in their own words as far as
practicable.

3. gIfe 3V EIRR 7Y 139 §V 31 qula [l @va &

Figures in the right hand margin indicate full marks.

4. 7ol Bl FITqdE GG P 1T GYERIl B 15 S BT SR THT 1791 TIT
g/

An extra time 15 minutes has been allotted for the candidates to read the

questions carefully.
5. I8 797 gia®r §f @vsl 7 & - @e—F 3N @e—g
This Question booklet divided into two sections-SECTION-A and SECTION-B
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6. @37 7 80 JVGITT HIT &/ §TH ¥ 18] 40 FF7 FT & TGV & &/ HIAD
Fo7 @ [e1 1 b [FEHINT &1 Fie pig gRerelf 40 797 W Sl @ GY qdr
& T HeH 40 F¥] & & HoIeh EIFT | 57T GTI¥ bl GYei&] H¥rd 7Y OMR TV
7 H [eF TV Wl [dpey @I Hlel, Bl §ie YT W FUIG BY [ [l H gHIY
& FIgCTY,/ TV G /&S, TG 3Tle BT OMR TV GF% HIIT BN 77 &,
3ITSIT GO GRTITT 3T~ 87T/
In SECTION-A there are 80 objective type questions, out of which any 40

questions are to be answered. Each question carries one mark. If a candidate
answers more than 40 questions are to be answered, then answer first 40
questions will be evaluated only. For answering these, darken the circle with
blue/black ball pen against the correct option on OMR Answer Sheet provided to
you. Do not use whitener/liquid/blade/nail etc. on OMR Answer sheet, otherwise

the result will be treated invalid.

7. GUS—§ H 24 TG TANT F9T &/-§7TH 8 FIT HlldPb INF, 8 T THIIT IR
P TT 8 FIT AT A5 P &/ qAE @Y (FfaE T, TargT N 99 oflg
[3s77) W FIV—FI% §9 BT FIX G & HAE P [y 2 3F [T & §TP
SIaRFT g9 @UE H 6 ¥ FTVIT Fo7 79 TV & [or7H W 2 FT Hilad IvT
P, 2 F997 ¥EITT IRA P VG 2 FIT 19 13577 & &/ Yilds TN B FAH FH
TTNT 97 & 11V 6 b, YHIITINT 9 Gilq 13777 & 1oV 5—5 & [FElRa
g/ IA% 39T (Fiaw IrE, YT IV U9 g [ds) W UH—0F F9T BT
TV & A 8/

In SECTION-B, there are 24 short answer type questions. Out of these, eight

questions are from Physics, eight questions are from Chemistry and eight are
from Biology. Four questions are to be answered from each subject (Physics,

Chemistry and Biology). Each question carries 2 marks. Apart from these, there
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are 6 Long Answer type questions, two questions each from Physics, Chemistry
and Biology. Long Answer Type questions from Physics carries 6 marks each,
and from Chemistry and Biology carries 5 marks each. Answer of one question

each from Physics, Chemistry and Biology is compulsory.

. [V GBIV & SATLIH FYBYT BT FIIT qOIaar arid &/

Use of any electronic appliances is strictly prohibited.
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Yus—3 /ISECTION-A
J&IS U / Objective Type Questions

Jo7 GGl 1 ¥ 80 T%F JvGITO FIT &/ §7H W 5] 40 FIH BT GGV A &/
IE 7e7 P G TV QBT 137 7T & o779 & % W&l 8/ 397 FIT g7 TV &l
faweT & OMR ¥fic v fafesa v/ 40 x 1 =40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each question

has four options, out of which only one is correct. You have to mark your selected

option on the OMR sheet. 40x1 =40
1. T yapTel ST & A U Hhlac W oF IR FIT g9l &7

(A) B (B) Ui

(C) (AR (B) Tl (D) ¥ 9 Pig TR
What is formed when an obstacle is placed in front of a light source?
(A) Shadow (B) Penumbra

(C) Both (A) and (B) (D) None of these

2. A TUT BT HIHT 0 Bl 28—
(A) 3 (B) 50cm
(C) 100cm (D) 3Fa
The focal length of a plane mirror is-

(A) Zero (B) 50 cm
(C) 100 cm (D) Infinity
3. 1 HieR BIed X dTel IAe ofd Bl &HdT BR—

A) -1D (B) 1.5 D
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(C) 1D (D)2 D

The power of a convex lens with a focal length of 1 m will be-

(A) -1D (B) 1.5D
(C) 1D (D)2 D
4. f=faRaa & 9 frd o &1 oo i ded § ?
(A) ST 9 (B) 3fadel ok
(C) dIgWidd o (D) S8 ¥ BIg el

Which of the following lenses is called diverging lens?

(A) Convex lens (B) Concave lens

(C) Bifocal lens (D) None of these
5. BT @ a1l fafr Al § gar g

(A) =1 — (B) 94

(C) (A)3R (B) &I (D) §7# & Pl el

The speed of light in different media is-

(A) Different (B) Same
(C) Both (A) and (B) (D) None of these
6. fhedl o RT SU— A= &1 SI 715d &1 2°

(A) fAerieR (B) @
(C) #Iex (D) #&E® fagq
What is the SI unit of magnification Produced by a lens?

(A) Millimetre (B) Cm
(C) Metre (D) Unitless
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7. fa=forlRaa o & fhdwT suad=ie gaa ffde gidr 87

(A) = (B) &1
(C) =w (D) =y
Which of the following has the highest refractive index?
(A) Glass (B) Diamond
(C) Ice (D) Air

8. UPh IR g §H1dT 82—

(A) 99 IRadd ufafdd (B) ¥<d IMWRA Ufcfdd
(C) & MR I B aafds ufafdd (D) 399 & P el

A Converging lens forms-

(A) A real image always (B) A virtual image always
(C) A real or a virtual image (D) None of these
9. 3BT BT =T I B fba_gRees &1 gRomd 8?2
(A) 3ad (B) wdIviA
(C)  TRrE (D) 3T A DY L

Which phenomena is responsible for the blue colour of the sky?

(A) Refraction (B) Scattering

(C) Reflection (D) None of these
10. 919 &7 WAfHe gof 3—

(A) oIt (B) e

€ = (D) =T W

The primary colour of light is-
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(A) Red (B) Blue

(C) Green (D) All of these
11.980 AT H GHR—YITE! DIRIBIY BBl Bl 57

(A)  pifar § (B) gdell #

(C) Xfesm # (D) TTH A BI3 I

Where are large numbers of light-sensitive cells present?

(A) In Cornea (B) In Pupil
(C) In Retina (D) None of these
12.53—3fCaY & ITAR & forg {5 of| &1 ganT grar &7

(A) SAd o9 (B) @dd o

(C) dATPR o (D) ST ¥ P el

Which lens is used for the treatment of farsightedness?

(A) Convex lens (B) Concave lens

(C) Cylindrical lens (D) None of these
13.99a 99 & forg gfic &1 wenfiw gear g—

(A) % sec (B) 1—10 sec

(C) 1_16 sec (D)  None of these

The persistence of vision for human eye is-

(A) % sec (B) 1—10 sec
(©) L sec (D) None of these
16
14.fr=faRad § -1 9=® are(W) & S)I§R 8IaT 27
(A) ]/ sec? (B) J/sec
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(€ Jts™

(D) 72572

Which of the following units is equal to watt(W)?

(A) ]/ sec?
© JisT

15. 1 fhellarc—gel a1} BrdTl a—

(A) 100 gfre
(©) 13fe
1 kilowatt-hour is equal to-

(A) 100 unit
(C) 1 unit

16.faga wifda @1 SI A d 38—

(A) dlee

(C) [
The SI unit of electric power is —

(A) Volt
(C) Joule

17. 1 kWh &RTeR 2—

(A) 36]
(C) 3.6 x10%]
1 KWh is equal to-

(A)36]
(C) 3.6 x 106

(B)  J/sec
(D) Js7*

(B) 103gfre

(D) TTH |9 BIg &I

(B) 10 unit
(D) None of these

(B) arc

(D) e

(B) Watt
(D) Newton

(B) 36 x10°]

(D) 3600]

(B) 36 x 10°]
(D) 3600 J

Page 8 of 31



18."21¢ &I & 33" & [ I fhas gfauriad fobar or?

(A) Hegde (B) Mg
(C) wifdTm (D) SRS
Who propounded the ‘right hand thumb’ rule?
(A) Maxwell (B) Einstein
(C) Fleming (D) Oersted
19. fAyd wgs1 fagd ax1 & 59 Rigid W) &R &-ar g7
(A) =D (B) mRAfT®
(C) ™I (D) T ¥ P A2l
On which principle of electric current does an electric fuse work?
(A) Magnetic (B) Chemical
(C) Thermal (D) None of these

20. | mA TR &—
(A)1071 4 (B) 1072 4
(C) 1073 4 (D) 107¢ A

1 mA is equal to-

(A)1071 A (B) 1072 A
(C) 1073 A (D) 1076 A
21. ORI BT |19 da & folv UfRIEDT BT ST ST aTfgi—
(A) gofieha # (B) qTedshy H
(C) (A) 3R (B) &I (D) =T ¥ PIE T

To increase the value of resistance, resistors should be connected in-
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(A) Series (B) Parallel
(C) Both (A) and (B) (D) None of these
22. 3afdedh Blek @l fsall g9 H b yaref &1 g fhar Sirdr 87

(A) e (B) drd

(C) =TEpH (D) dfaT

Which material is used for making the coil of an electric heater?
(A) Iron (B) Silver

(C) Nichrome (D) Copper

23. fF=feRad & 9 &9 Taes arffiT & forw STRer 27
(A) NH; B) 0
€ N (D) Co,

Which among the following is responsible for global warming?

(A) NH; (B)0,
€) N, (D) €O,
24. 59 | B Siared e 27
(A) ugiferam (B) wgpfie
(C) ®Igel (D) SWad |
Which among the following is a fossil fuel?
(A) Petroleum (B) Natural gas
(C) Coal (D) All of the above

25. g AT 39 ORI gRT ST fIene Soff &7 Fd 8-

(A) D fagres (B) - Hetad
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(C) (A) T (B) &M (D) =T 9§ 3Is T8l
The source of the huge energy emitted by the sun and other stars is-

(A) Nuclear fission (B) Nuclear fusion
(C) Both (A) and (B) (D) None of these
26. fegdt dty At &1 Seeg @t or?

(A) 9 =g (B) fastel 3a@re
(C) et amyfe (D) g @AW
What was the purpose of construction of the Tehri Dam?

(A) Land irrigation (B) Electricity generation
(C) Water supply (D) All of these
27. RaciFl # 5 et &1 IUIRT Brar 27?

(A) Staa wd (B) dR ¥
(C) g aa (D) 38 ¥ 313 T8
Which cell is used in toys?

(A) Daniel cell (B) Solar cell
(C) Dry cell (D) None of these
28. STl # A 3gEed # hfls W HIE—A 9 qad gl 27

(A) S (B)  smaRirST

(©) wIgrm (D) T 9 @ T
Which gas is liberated at the Cathode during electrolysis in water?
(A) Ozone (B) Oxygen

(C) Hydrogen (D) None of these
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29. foa & 13 IfAfhar & Wy # BH—4T $UF I 87
/n0+C -»Zn+CO

(A) ZnO Iuafdd & & & (B) %16+ 3roafdd & &

(C) e Suafid &1 =T 8 (D) ®rd= A —sifaarge SUAfid 81 &7 ©

Which statement is true regarding the reaction given below?

/n0+C -»Zn+CO

(A) ZnO 1is being oxidized (B) Carbon is being reduced
(C) Carbon is being oxidizing (D) Carbon monoxide is being
oxidized

30. ST QAT T BTSIFANRD ¥ D MAHAT & HeRawyd 7+ § I DIF—AT 49 g
g7

(A) N, (B) H;
€) S0, (D) €O,

Which of the following gases is formed as a result of the reaction of Zinc
and dilute hydrochloric acid?
(A) N (B) H;
(C) S0, (D) co,
31. f=ifsa § @9 9 g1 S BT R R <l 27

A) (€O (B) (o,
© 0, D) (L

Which of the following gases turns lime water milky?
(A) CO (B) Co,
©) 0, (D) Cl,
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32. fHifsd 5 | BIF g1 g AL BY
(A) CaO (B) CaCOs
(C) Ca(OH), (D) Ca

Which among the following is slaked lime?
(A) CaO (B) CaCO04
(C) Ca(OH), (D) Ca

33. <dHoH U BT B-

(A) ol (B) @ gad

(C) e&r3 (D) ST 9 313 T8l
Toothpaste is generally-

(A) Acidic (B) Salty

(C) Alkaline (D) None of these

34. g # ®—31 37 BT '
(A) fufgs s (B) <if¥esd s
(C) uifew ara (D) wiffi® s/

Which acid is present in lemon?

(A) Citric acid (B) Lactic acid

(C) Acetic acid (D) Formic acid
35. fiew 3ifp A3 &1 pH #19 8Iar ©

(A) 4 B) 5

<) 8 (D) 10.5

The pH value of milk of magnesia is-

(A) 4 B) 5
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C) 8

36. ST DT 3R&h 8—

(A) diewrge
(C) fRMar
An ore of Zinc is-

(A) Bauxite
(C) Cinnabar

37. o1 i Rim TRl # goldT 8, 98 8-

(A) Fe

(C) Au

(D) 10.5

(B) wifeTq aIRISS

(D) Rie <ie

(B) Sodium chloride
(D) Zinc blende

B) Cu

(D) Al

The metal which dissolves only in aqua regia is —

(A) Fe (B) Cu
(C) Au (D) Al
38. f=folRad # @ e Aiffre =& 87
(A) CaCl, (B) €O,
(B) KCl (D) HCN
Which of the following is not an ionic compound?
(A) CaCl, (B) Co,
(C) KCl (D) HCN
39. giforq 9 2
(A) dfspa (B) iy
(C) SeN= (D) ST 4 313 T8l
Helium gas is-
(A) Active (B) Inert
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(C) Neutral

40. 9 HOR UPfad yarf o—

(A)
©)

The hardest natural substance is-

GG

EIEL

(A) Iron
(C) Silver

41. IS4 T A ©—

(A)
©)

The molecular formula of benzene 1s-

CH;

CH,

(A) C;H,
(C) CH,

42, BTSISE @ &I WA & 419 DI A€ 99 57

(A)
©)

r—amaer

TH—3MTaeT

(D) None of these

(B)
(D)

[T

ERT

(B) Gold
(D) Diamond

(B)
(D)

CoH,

CeHe

(B) C2H,
(D) CeHe

(B)
(D)

fg—armder

$TH | Bl TTE

Which bonds is formed between two hydrogen atoms?

(A) Triple bond
(C) Single bond
43, g1 St BT IS T 5

(A)
©)

gl T
Sl AT

(B) Double bond
(D) None of these

(B)
(D)

CARSE LR SIESSIES]
Dfeaad eSS
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The chemical name of lime water is-

(A) Slaked lime (B) Calcium hydroxide

(C) Quick lime (D) Calcium oxide
44, I @1 TG G B

(A) CH;CHO (B) CgH 04
(C)  Ci2H3;04 (D) CH3COOH
The Chemical formula of sugar is-

(A) CH3CH0 (B) C6H12C6
(C) C12H32044 (D) CH;COOH
45. f=faRag & di9—a1 e dfe a9 31w srfafhaniia 87

(A)  C3Hg (B) CH,

(C) C3Hg (D) CyH,

Which of the following organic compounds is the most reactive?
(A) C2Hg (B) CH,

(C) C3Hg (D) C,H,
46. HEe% F JUAT Tad IR TR HRA B fIU SIH—a1 AUSS I=RIT ?

(A) =g = (B) R G
(C) o= He= (D) A |E

Which criteria did Mendeleev adopt to prepare the periodic table?

(A) Number of Neutron (B) Atomic mass
(C) Atomic number (D) Number of moles
47. F=faRed § $19 aR o1g T8 8-

(A) Mg (B) Na
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(C) Rb

(D) Li

Which of the following is not an alkali metal?

(A) Mg
(C) Rb

48. F=IfaRad H B9 gello GHE & 9a 27

(A) <RI\

(©) =@ift

(B) Na
(D) Li

(B) arH

(D) aRferm™

Which of the following is a member of the halogen group?

(A) Barium
(C) Bromine

49. fSi® & IRH] H=T 7

(A) 27
(C) 29

The atomic number of Zinc is-
(A) 27
(©) 29

50. f=faRad & &9 fagd Fomers 8 87

(A)  @erg

(C) faserg

Which of the following are electronegative?

(A) None-metals
(C) Alloy
(D) None of these

(B) Boron
(D) Beryllium

(B) 28

(D) 30

(B) 28
(D) 30

(B) &g
(D) =™ ¥ K T

(B) Metals

Page 17 of 31



51.oRE & fbg U\ H fudr oTeiad’ @ A H Afgerel 7 S al ofi?
(A) Tar (B) Word
(C) <N (D)

In which village of Rajasthan did women sacrifice their lives during the

‘Chipko Movement’?
(A) Pawna (B) Khejri

(C) Rani (D) Reni
52. f=ferRad # foae wRoT wafar # Aged fars Siar 27

(A) TRIGoT (B) g AT ST
(C) SifEre 8% dIg &1 Sl (D) g fafderan

Due to which of the following the balance in the environment gets

disturbed?

(A) Afforestation (B) Increasing human Population
(C) Growth of more green plants (D) Biodiversity

53.991aR0T DI UGHUT W FA BT AIH 3MTST AT o—

(A) TG BT Al (B) 9% &I JTUIN
(C) oI B IWINT H HHI (D) TH

The best way to protect the environment from pollution is-

(A) Recycling of goods (B) Reuse of the object
(C) Decrease in use of the item (D) All of these
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54.9R Aol ¥ fHdAwT ST BIdr8?

(A) W (B) weIFM
(C) FHfere- (D) wiRe®
Which is used in Solar cell?

(A) Uranium (B) Plutonium
(C) Silicon (D) Plastic

55. f=ifed # @9 gEga: 9@ 9 2
(A) C3Hg (B) CH,
(C)  CuHy (D) H;
Which of following is mainly a biogas?

(A) C2He (B) CH,
(C) C4Hy (D) H,
56. 9T & QA DI FaH ST URA 5—

(A) arRer (B)  #ASOI T
(C) e (D) Sere
The upper most layer of human teeth is-

(A) Bone (B) Pulp cavity
(C) Enamel (D) Dentine

57. Sex Uferam uTs et 8—
(A) Tpa A (B) st #

(C) omErE ¥ (D) oFRM #
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Gastric glands are found in the-

(A) Liver (B) Eye

(C) Stomach (D) Pancreas
58. f=forRad & @19 9T & U H WErId Il &7

(A) oTSUS (B) HAleeo

(C) rsfem (D) dac

Which of the following helps in the digestion of fat?

(A) Lipase (B) Maltase

(C) Tylin (D) Lactase
59. O < &1 T B 2

(A) Grelm (B) B

(C©) w®g (D) T 9 P8 TE

The colour of bile juice is-

(A) Yellow (B) Green

(C) White (D) None of these
60. Uil # 2a| Bl 82—

(A) T H (B) uRkmar #

(C) v H (D) T 9wl

Respiration takes place in plants-

(A) In the stem (B) Inleaves
(C) Inthe root (D) All of these
61. 8% U I H b 199 &7 Fpr= aRd &7

(A) CO, (B) 0,
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C) N, (D) ST A PIg T
Which gas is released by green plants at night?

(A) CO, (B) 0,
(C) N, (D) None of these
62. f&Hva & Horawy fdhdd ATP &1 fHor grar 272

(A) 02 (B) 04
(C) 36 (D) 38
How many ATPs are produced as a result of fermentation?

(A) 02 (B) 04
(©) 36 (D) 38

63. g SRCIfoTd Yad <Td aldl a—

(A) 80mmHg (B) 120mmHg

(C) 100mmHg (D) 130mmHg

Normal diastolic blood pressure is-

(A) 80mmHg (B) 120mmHg

(C) 100mmHg (D) 130mmHg
64. el 7 IS b 3T H Bl 87

(A) @ H (B) =il #

(€ wa (D) 7 wf A

In which organ does transpiration take place in plants?

(A) In stem (B) In the leaf
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(C) In flower

65. 3TfRer T 2°

(A) Ut
(C) TP

What is bone?
(A) Substance
(C) Tissue

66. 9cY F Iuf¥re Ifd Yed 2—

(A) B H
(C) IR Rfdaari |
Plant wastes are stored in-

(A) Bark

(C) Cellular vacuoles

(D) All of these

(B) PIfaT
(D) =T ¥ BIE T

(B) Cell
(D) None of these

(B) g #
(D) s wdl A

(B) Leaves
(D) All of these

(A) THarfe
(C) B

67. Ja®H & AAAIHD U4 [hdTcHD Shls DI Hod o—

(B) TR
(D) ar—¥ge

The structural and functional unit of the kidney is called-

(A) Ureter
(C) Nephron

68. AT B Igoir garef g—

(A) <=
(C) T

(B) Glomerulus

(D) Bowman’s capsule

(B) ~foH
(D) =T W
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The excretory substances of plants are-

(A) Tannin (B) Resin

(C) Lap (D) All of these
69. FRURIIT BT &I ds 8—

(A) g UShd (B) SEURI®E

(C) Jiiftew urfer (D) sH

The main center of memory is-

(A) Cerebral peduncle (B) Diencephalon

(C) Optic lobe (D) Cerebrum
70.57$ &l JENH gig Peelrar a—

(A) STeTgacH (B)  ETITIAR

(C)  FPTIGITH (D)  TwEgaT

The downward growth of the roots is called-

(A) Hydrotropism (B) Chemotropism

(C) Phototropism (D) Geotropism

71. TESIN g 8T 8—

v

(A) o1 &I (B) meRlzs
(C) <SRN gNI (D) < Red &I gifu®Rl grRI
Estrogen is secreted by-

(A) Testis (B) Thyroid
(C) Ovary (D) Islets of Langerhans
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72 FJRTTT 71 ¥ fe den H grar 87
(A) Udferfy (B) S9uferf
(C) (A) T (B) & (D) ¥TH ®Ig e
Self-pollination occurs in which of the following plants?

(A) Unisexual (B) Bisexual
(C) Both (A) and (B) (D) None of these
73. AR & B W § or Aeiaa gdar g7

(A) TSHfEH (B) wsd
(©) af (D) ST & BIE G

In which part of the uterus does the embryo develop?

(A) Endometrium (B) Funds

(C) Vagina (D) None of these
74, fFFAfRad H IF—1 91T Badl GO SIAART § UrT STl 27

(A) <Ifedar AZART (B) uRudd geah

(C) oy Afetdr (D) geharedT

Which of the following parts is found only in male genitalia?

(A) Labia minora (B) Mature follicle

(C) Fallopian tube (D) Vas deferens
75. ‘gaRedr &1 fUar {69 Fer S 2?

(A) TS I Pl (B) IR SIfF Hsal &I

(C) T Iae TIfdT Bl (D) = wiew
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Who is called ‘father of Genetics’?

(A) Haroid Urey (B) Gregor Johann Mendel
(C) Charles Robert Darwin (D) Sideny fox
76. Hscl fhd <21 | SAGAT & Teb HG & UTGNl 7
(A) Wi (B) i
(C) smgfera (D) TS
Mendel was priest of a Christian monastery of which country?
(A) France (B) Austria
(C) Australia (D) England

77. 374 BIF qUTBRY & AR SURI YIS WR FaRerd 87
(A) 9o (B) IToT
(C) (D) vrTd
Which of these is located at the top of the classification?

(A) Genera (B) Order
(C) Class (D) Kingdom
78. IEASTHIGAT BT STERIT &—
(A) Sfrarg (B) ®db
(C) 3ard (D) (A)3IR (B) &M

An example of micro-consumer is-

(A) Bacteria (B) Fungus
(C) Algae (D) Both (A) and (B)
79. HATERY STAl BT BT Sl 8—
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(A)  Urafie ST (B) fedias Suwraan

(C) Tgd: SUHTa (D) (A) IR (B) Tl

Carnivorous animals are called-

(A) Primary consumer (B) Secondary consumer
(C) Tertiary consumer (D) Both (A) and (B)
80.39Te1 3G & YD UMl WR R FHol FHoll B (b1 URIed Wl gl 'R Pl

RIAIARET BIaT 87
(A) 0.1% (B) 01%
©) 10% (D) 100%

What percentage of total energy is transferred to the next trophic level at
each trophic level of the food chain?

(A) 0.1% (B) 01 %

(C)10% (D) 100 %

wWus—31 /SECTION —-B

g Swig a3/ Short Answer Type Questions
o7 H&IT 1 @ 8 GF oY GANT & | §79 W 18] 4 F¥I @ TN @ | FAB 57
P for7 2 3% [FEIRT &/ 4x2=8

Question Nos. I to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. 4x2=28
1. X9 R H o 7 &7 AT 7 B SIrar &7 2
Why is red colour used in railway signals?
2. R ¥ qUf AR WRIac 81 & FT BROT 57 2
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What is the reason for total internal reflection in diamond?

LS B AR & O U faRany ford | 2

Write three important features of fuse wire.

. TOYd gRT & RS yaTd I Heed Sl 8% ST b FH Bl for |
2

Write the ‘right-hand thumb’ rule related to the magnetic effect of electric

current.

. IR R Sa—URIE | IR UKl &R & 31 A4 27 2

What are the advantages of obtaining biogas from animal dung and bio-

waste?

. IR fRpa—aRuel # Sofiees Ao &1 STANT &7 T8l fhar Smar g7 2

Why series connection is not used in domestic electrical circuits?

. U9 oIl 9T BN b T BIIe 27 2

What are the advantage of getting energy from wind?
. SR $oll B A= BT g7 2

How is tidal energy produced?

<" STg w3/ Short Answer Type Questions

U AT 9 W 10 TP <Y STRIA T & | 599 9 gl 1 Ul & SR ¢ | ISP
U & ferv 6 i fAuiRa &) 6x1=6

Question Nos. 9 to 10 are Short Answer Type. Answer any 4 questions. Each

question carries 6 marks. 6X1=6

9. fHRUT G P AeE I I 3R Aqdd ol & YA R gl g2 wivd

BT TV | 6
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Explain the first and second principle focus of convex and concave lenses

with the help of ray diagram.
10. SIFHT T 87 396 Rigid 3R fhar & wWo g & 98R avi+a a3 6

What is dynamo? Describe its principles and working with the help of a neat

diagram.

NI ATA / Chemistry

&g SwRig 92/ Short Answer Type Questions

e HE 11 & 18 A% oY FIIT & [ §79 W [F7F) 4 F¥H P TGV &1 HAD
T & o1y 2 3% [T &/ 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. 4x2=8

11. IaTeR0T Afed Bl sraerger sifAfhar &1 quie & | 2
Describe a precipitation reaction with an example.

12. JMANFET Jard 9P d SYANT B FAT8 T &l Sl 57 2

Why is the use of iodised salt recommended?
13. 999 & I&R H S 8 dlel HCL3FA B BRI—UGHT BT 9o dx | 2
Describe the functioning of HCI acid secreted in the human stomach.

14. Hq< iR AJ< BTSIHEA H AR o | TP HT T IR § | 2

Differentiate between saturated and unsaturated hydrocarbons. Give

one example for each.
15. SgroT SffAfhar ol gRATT &Y | SoEdl e AfAfhar BT T
JETER0T ST | 2

Define a combination reaction. Give one example of an exothermic

combination reaction.
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16. RRPT 7 27 TP STIN BT §dTv | 2

What is vinegar? Explain its uses.

17. TETRYT 1 fohar fh e 87 FHIHROT §RT FHS | 2
What is the process of esterification? Explain with the help of equation.
18. f3u Riars =uaen «r 87 2

What is drip irrigation system?

<" Stg ue /Short Answer Type Questions
R T 19 | 20 I <Y ST U 8§ | 399 4 [l 1 9Tl B SR © | TP
usT & forg 5 3 foeifiRa 2 | 5x1=5
Question Nos. 19 to 10 are Short Answer Type. Answer any 4 questions. Each

question carries 5 marks. 5x1=5

19. Imaf® 99 fhd Fed 27 ug fhds THR &1 8lal 87 Seeu & Al
Il B | 5
What is chemical bond? How many types of it? Explain with examples.

20. BT & BB (A& IO BT Il B AT 9AN b HleA & AR Bl
T AT AT 27 5

Mention some unique properties of carbon and explain why the number of

compounds of carbon is innumerable?
Stta fasi1/ Biology

g SwRig a3/ Short Answer Type Questions
Ue G121 9§ 28 Ob ol SN € | 30 ¥ (B 4 Tl B SN < | TAD
usT & forg 2 3 iR B | 4%x2=8
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Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each
question carries 2 marks. 4x2=28

21.3MRR H UrEd T B w7 T 2?
What is the role of digestive juices in the stomach?

22. AN, $YaN, AR AR A & & a9 R & AW ford | 2
Write the names of main respiratory organs of fish, earthworm, mosquito

and human being.

23. 799 H 3ad BT G uR¥=Ror w7 2? 2
What is double circulation of blood in humans?

24, sfafya &1 fagia @ &7 2
What is the principle of dialysis?

25. AT 93 & w1 B 2? 2
What are the functions of nervous system?

26. A9 H B ATl WHRI oI FaRa AT & 1 ford | 2

Write the names of common sexually transmitted diseases in human.
27. GG T Ud HAWY T W 3MY T FHSK &2 2

What do you understand by homologous organs and analogous organs?
28. 1 BT A B9 Ub UINI—WR & G Siidl bl HHATE PR o7 2

What would happen if we eliminate all organisms at a trophic level?

<re I w29/ Short Answer Type Questions
T AT 29 | 30 db <TE SR U B | 30 4 fH 1 Ul B SR € | TP
s & forq 5 ofe frmiRa 2 5x1=5

Question Nos. 29 to 30 are Short Answer Type. Answer any 4 questions. Each

question carries 5 marks. 5x1=5
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29. fired N1 399+ {59 UeR Biar 27 afra |aqsne? 5

How does respiration take place through gills? Explain with diagram?
30. wRReIfa®d &3 § I &1 Yare A aIam &7 5

How does energy flow in an ecosystem?
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